
  

APRIL 2020 62452/CPZ6A/CPG6B 

Time : 2
11 hours Maximum : 75 marks 

SECTION A — (5  3 = 15 marks) 

Answer any FIVE questions. 

1. Define Contract Costing. 

 J¨£¢u AhUPÂø» PnUS GßÓõÀ GßÚ? 

2. What is Work Certified? 

 \õßÓÎUP¨£mh ÷Áø» GßÓõÀ GßÚ? 

3. What is Batch costing? 

 öuõSv AhUPÂ¯À GßÓõÀ GßÚ? 

4. What is Tender? 

 öhshº GßÓõÀ GßÚ? 

5. What is Sub-contracts? 

 xøn J¨£¢u® GßÓõÀ GßÚ? 

6. Define Process costing. 

 £i{ø» PnUQ¯À GßÓõÀ GßÚ? 

7. What do you mean by operating costing? 

 ö\¯À£õmk PnUQ¯À £ØÔ TÖP. 

8. Write down the formula for BEP. 

 C»õ£–|mh ©ØÓ `zvμzøu GÊxP. 

9. What is meant by contribution? 

 £[PÎ¨¦ GßÓõÀ GßÚ? 

10. Define break-even point. 

 C»õ£–|mh©ØÓ £ØÔ  ÂÁ›. 

11. What is Margin of Safety? 

 £õxPõ¨¦ AÍÄ GßÓõÀ GßÚ? 

12. Define Overheads. 

 ÷©Øö\»ÄPÒ  ÂÁ›. 



 62452/CPZ6A/CPG6B 
 

2

SECTION B — (3 × 10 = 30 marks) 

Answer any THREE questions. 

13. Calculate profit that can be reasonably credited to Profit and 
Loss account from the following details. 

 Notional profit Rs.79,000 

 Cash received Rs.3,30,000 

 Work certified Rs.4,00,000 

 Contract price Rs.6,00,000. 

 RÌPõq® Â£μzvß ‰»® C»õ£ AÍÄ GÆÁÍÄ C»õ£ |mh 

PnUQÀ ÁμÄ øÁUP¨£h ÷Ásk® GÚ PõsP. 

 P¸zv¯»õÚ C»õ£® – ¹. 79,000 

 ö£ØÓ öμõUP® ¹.3,30,000 

 \õßÓÎUP¨£mh ÷Áø» ©v¨¦ ¹.4,00,000 

 J¨£¢u Âø» ¹.6,00,000. 

14. Give the differences between Contract Costing and Job Costing. 

 J¨£¢u AhUPÂ¯À ©ØÖ® ÷Áø» AhUPÂ¯À Cøh÷¯ EÒÍ 

Âzv¯õ\[PÒ ¯õøÁ? 

15. Prepare Process Account 

 Direct Materials Rs. 4,000 

 Direct Labour Rs. 1,500 

 Direct Expenses Rs. 650 

 Total Production Overheads during the period were Rs.6,000. It 
is to be apportioned to different processes on the basis of 150% of 
direct labour. There was no opening or closing stock. Production 
during the period was 200 units. 

 £i•øÓ PnUQøÚ u¯õº ö\´P. 

 ÷|μi ö£õ¸mPÒ ¹.4,000 

 ÷|μi EøÇ¨¦  1,500 

 ÷|μi ö\»ÄPÒ ¹.650 

 ö©õzu EØ£zv ö\»ÄPÒ ö©õzu® ¹.6,000. Cøu ÷|μi EøÇ¨¤À 

150%. BP PnUQhÄ® öuõhUP ©ØÖ® CÖv \μUS C¸¨¦ CÀø». 

EØ£zv 200 A»SPÒ. 
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16. From the following information, calculate total running 
kilometers and total passenger kilometers. 

 Number of buses -5 

 Days operated in a month-25 

 Trips per day made by each bus -4 

 Distance of route-25 km (one side) 

 Capacity of bus-50 passengers 

 Average passenger travelling-90% capacity. 

 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x £¯oPÎß ö©õzu £¯n 

Q÷»õ «mhøμ PnUQkP.  

 ÷£¸¢xPÒ GsoUøP  –5 

 J¸ ©õuzvÀ Ki¯ |õmPÒ –25 

 JÆöÁõ¸ ÷£¸¢vß Kmh® –04 

 ö©õzu yμ® (J¸ ÁÈ) –25 Q.« 

 ÷£¸¢x ¤μ¯õoPÒ öPõÒÍÄ–50 ÷£º 

 \μõ\›¯õP ¤μ¯õoPÒ ¤μ¯õn® –90% AÍÄ. 

17. The sales of a company are Rs.5,00,000, variable costs are 
Rs.3,00,000 and fixed costs are Rs.1,00,000. Calculate:  

 (a) P/V Ratio 

 (b) Break Even Point (in rupees). 

 ÂØ£øÚ –5,00,000 

 ©õÖ£k® ÷©Øö\»Ä ¹.3,00,000 

 {ø» ÷©Øö\»Ä ¹.1,00,000 

 C»õ£ AÍÄ ÂQu® ©ØÖ® C»õ£ |mh©ØÓ ¦ÒÎ PõsP. 

18. Explain the advantages of marginal costing. 

 CÖv{ø» ö\»Ä Gß£uß P¸zx ¯õx, Auß |ßø©PÒ ¯õøÁ? 

19. Calculate Economic Order Quantity: 

 Annual Requirements 3600 kgs 

 Cost of placing and receiving one order Rs.10 

 Annual carrying and storage cost  Rs. 20 p.u. 
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 ]UPÚ Bøn AÍøÁ PnUQkP. 

 A»SPÐUPõÚ Bskz ÷uøÁ 3600 kgs 

 Bøn ö\´uÀ ©ØÖ® ö£Öu¾UPõÚ ö\»Ä ¹.10 

 Bsk HØÖaö\»Ä® ©ØÖ® £shP £õxPõ¨¦ ö\»Ä ¹.20 p.u. 

SECTION C — (2 × 15 = 30 marks) 

Answer any TWO questions. 

20. What is Direct and Indirect Labour? Give its differences. 

 ÷|μi EøÇ¨¦ ©ØÖ® ©øÓ•P EøÇ¨¦ EÒÍ Âzv¯õ\[PÒ 

¯õøÁ? 

21. The following was the expenditure on a contract for Rs. 6,00,000 
commenced in February 2015.  

 Materials Rs. 1,20,000 

 Wages Rs. 1,64,400  

 Plant Rs. 20,000  

 Business charges Rs. 8,600. 

 Cash received on account upto 31st December 2015 amounted to 
Rs. 2,40,000 being 80% of work certified. The value of materials 
on hand at 31.12.2015 was Rs. 10,000. Prepare contract account 
for 2015 showing the profit to be credited to the year’s profit and 
loss account. Plant is to be depreciated at 10%. 

 2015&® ¤¨μÁ›°À öuõh[Q¯ J¨£¢u PnUQß ö\»ÄPÒ  

¹. 6,00,000. 

 ‰»¨ö£õ¸mPÒ ¹.1,20,000 

 T¼ ¹.1,64,400 

 ö£õÔ ¹.20,000 

 öuõÈØö\»ÄPÒ ¹.8,600 . 

 31-–12–2015 Áøμ ö£Ó¨£mh öμõUP® ¹.2,40,000. CzöuõøP 

\õßÓÎUP¨£mh ÷Áø»°ß ©v¨¤À 80% BS®. 31–12–2015 ® 

øP°À EÒÍ \μUQ¸¨¦ ¹.10,000. ö£õÔ «uõÚ ÷u´©õÚ® 10%. 

2015 ® BsiØS›¯ J¨£¢u PnUQøÚ²® ÷©¾® C»õ£ |mh 

PnUQÀ ÁμÄ øÁUP¨£mh ÷Ási¯ öuõøP°øÚ²® u¯õº ö\´P. 
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22. What is process costing? Explain its features. 

 £i•øÓ PnUS GßÓõÀ GßÚ? Auß PõμoPÒ ¯õøÁ? 

23. Town bus company Ltd run the following buses within the limits 
of Chennai. 

Type Buses Carrying capacity 

Ordinary  10 50 passengers 

Delux 15 40 passengers 

 On an Average each bus makes 10 trips a day covering a 
distance of 8 kms in each trip and 90% of the seats are occupied. 
The annual records show that 5 buses are generally required to 
be kept away from the road each day for repairs. Calculate 
effective passenger kilometers for the month of April. 

 hÄs ÷£¸¢x RÌÁ¸® ÷£¸¢xPøÍ, ö\ßøÚ°À C¯UQ Á¸Áx. 

ÁøP ÷£¸¢xPÒ öPõÒÍÍÄ 

\õuõμn 10 50 passengers 

ö\õS_ 15 40 passengers 

 ÷uõμõ¯©õP JÆöÁõ¸ ÷£¸¢x® 10 |øh J¸ |õÎØS 8 Q.«. J¸ 

|øhUS, AvÀ 90% C¸UøPPÒ •Êø©¯õP EÒÍx. CvÀ Bsk 

£vÂÀ 5 ÷£¸¢xPÒ |õÒ JßÖUS £ÊuõQ EÒÍx. C¢u 

ÂÁμ[PøÍ öPõsk ö©õzu C¯UP Q.« ©ØÖ® £¯oPÒ Q.« 

Psk¤iUPÄ®. 

24. The following details are given 

Year Sales (Rs) Profit (Rs) 

2011 10,00,000 2,00,000 

2012 15,00,000 4,00,000 

 Calculate : 

 (a) P/V ratio 

 (b) Fixed cost 

 (c) Break even point (value) 

 (d) Profit on sale of Rs.20,00,000 

 (e) Sales required to make a profit of Rs.6,00,000 

 (f) Margin of safety. 
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 RÌUPõq® ÂÁμ[PÒ öPõsk PnUQkP. 

 (A) P/V ratio 

 (B) {ø»¯õÚ AhUP® 

 (C) BEP öuõøP 

 (D) C»õ£®, Â¯õ£õμ® 20,00,000 

Á¸h® Â¯õ£õμ® ¹. C»õ£® ¹.

2011 10,00,000 2,00,000 

2012 15,00,000 4,00,000 

 (E) Â¯õ£õμ®, C»õ£® ¹.6,00,000 BP C¸US® ÷£õx 

 (F) £õxPõ¨¦ ÂØ£øÚ AÍÄ. 

—————— 


